Function Diagram

Multifunction: A, At, B, C, H, Ht, Di,

D, Ac, Bw

Function A: Delay on energisation

Single tirming cycls which baging on 1 relay

anardisation. u
The autput changes state after timing. R %
u
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R2 INET
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2 relays tmed or
1 relay imed and 1 Rstantanecls

Function Ac: Timing after closing and opening
of zontrol contact

1 rsls:r
&fter energisation, closure of the control u
contact causes the timing period T to
commence and output relay R {or the load) <
changes state at the end of this intarval. R - =
When contact © (Y1) opens, relay R resets -
after a second iming period T. .
L e ——
RA/RZ =~
2 relays imed or la-T T
1 relgy dmad and 1 InstantEneous FZ InsL

Function At: Timing on energisation with memory

1 reiay
Provides a cumulative time for contact u :
opaning. c

i -
The output chandes states at the and of the F T

sat time.

2 relays imed or
1 ref@y tmed and 1 InEiantanecis Rz Ind.
Tmltisl2

Function B: Timing on impulse one shot
Om pulse (with constant supply)

After enargiation; a pulse (= 50 ms) ora 1relay
maintained control contact will cause the

output to changa stata which raverts to the =
reat position at the end of iming. I

M.B. : this process enables shortening or
lengthening of a signal.

2 relays timed or
1 nefay tmed and 1 Ineiantanecis

Function Bw: Pulse output {adjustable)

1 relay
ADutput relay R jor the load) changes state, u
and remains in the changed-over state for the c
firming period, both when control contact C " = -
(Y1) clesas and when it opens. -
u
c
2 relaye Umed or A T |_._-|-_._|_

1 relay timed andl 1 Instananaous

Function C: Timing after impulse

Delay OFF [with constant supply

L . 1 relay
Aftar enargisation, once the confral contact is
closed the output state changes.
Timing will only bagin on the re-opaning of c
this controd contact {one shot). R -
Relay R retumns to its initial position at the
and of the iming pariod. g
Fi/R2 e =

2 relays tmed o Rzinst. =

1 r2iay tmed and 1 InsiEntanecis =
Function D or Di: Flip-fiop
Repatitive cycla which switches the output

1 reday

alternataly betwesn the rest and opsrating
pesition for aqual time bases.
T1 +T2=T total

Function D: tha cycle bagins with the output
in rest position. Pause start.

RIGEZ
2 relays tmed or RZ Inst
1 refay tmed and 1 Instanianeois
1 reday
Function Di: the cycle begins with the output ’
in the oparating position. Pulse start. 2
THT
U
RiRZ

2 relays tmed ar
1 nelay tmed and 1 Instantaneaus

Function H: Timing on energisation
Interval timer - one shot

On enargisation, the output changes state,
remains in that state for the duration of timing
and resats at the end of the single cycle.

N.B. This is compla mantary to function A.

2 refays timad or
1 relay timed and 1 Instaniangous

Function Ht : Delay on energisation
with memory

Provides a cumulative time for contact opening.
Cn energisation, the output changes state,
remains in that state for the duration of timing
and resets at the end of the single cycle.

2 relays imad or
1 reday dmed and 1 Instantanecus
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